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1. Choose the correct answer from the
following : 1x8=8

(@) Who wrote the book, Fundamentals of
Industrial Sociology?

(i) Pascual Gisbert
(i) M. N. Srinivas
(iij) R. C. Saxena
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(2)

(b) The name of the country which first
experienced the Industrial Revolution is

(i) France
(ii) America
(iii) England
(0 When was the Tea Districts Emigrant
Labour Act introduced?
(i) 1932
(i) 1946
(iii) 1951
(d) The original word for ‘industry’ is
(i) industrials
(ii) industria

(iti) indrust

(e) AITUF was formed in
(i) 1938
(i) 1928
(i) 1957
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(3)

() Who was the first President of the
Indian National Trade Union Congress?

(i) Vallabhbhai Patel
(ii) Jawaharlal Nehru
(i) B. R. Ambedkar
(g9 In which year was the Industrial
Disputes Act enacted?
(i 1947
(ii) 1937
(iii) 1957
(h) Who is the author of Dynamics of
Industrial Relations ?

(i) C. B. Mamoria
(i) B. Dutta Roy
(i) S. D. Parkar

2. Write on any four of the following (within
150 words each) : 4x4=16
(a) Industrial Society
(b) Characteristics of Bureaucracy
(c) Labour Welfare Activities in Railways
(d) Modern Industrial Man

(e) Social Security Measures in India
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(4)

3. Answer any four of the following questions
(within 500 words each) : 14%x4=56

(@)

(b)

(c)

(d)

(e)

(9)

What is sociology of industry?
Elaborately discuss how the Industrial
Revolution helped in the growth of
sociology of industry. 4+10=14

Explain the salient features of formal
organization and discuss the
importance of formal organization in
industry. 4+10=14

Write an essay on the growth and
development of Trade Union in India. 14

Define industrial bureaucracy. How is
industrial bureaucracy an essential
organization in modern industrial
system? Discuss. 4+10=14

What is industrial disputes? Discuss

" how you will reduce industrial disputes

in India. 4+10=14

Write an essay on the labour welfare in
India. 14

Examine the impact of industrialization
on environment with reference to
North-East India. 14
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